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a” x-morph=”OSHM:HR”���������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”1.0” ”strong=”2060|���������� x-morph=”OSHM:HNp”
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2+ ”strong=”4462|�������������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1.2.1”
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x-cantillationLevel=”1.0” ”strong=”k/3956|��/��������/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 3 strong=”c/6485|��������/��
a” x-morph=”OSHM:HC/Vhj3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”6496|����������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�����������|strong=”4082”
x-morph=”OSHM:HNcfpc” ”strong=”4438|���/�������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”c/6908|�����������/�� x-morph=”OSHM:HC/Vqj3mp”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”���������|strong=”5291”
x-morph=”OSHM:HNcfsa”����������|strong=”1330” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1.0.1” strong=”2896|������� a” x-morph=”OSHM:HAafsc”
”strong=”4758|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”7800” x-
morph=”OSHM:HNp” ”strong=”d/1002|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”d/802|���������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.1” ”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”3027”
x-morph=”OSHM:HNcbsc” ”strong=”1896|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”5631|������� x-morph=”OSHM:HNcmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”8104|������� x-morph=”OSHM:HVqrmsc” ”strong=”d/802|���������/��
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1” ”strong=”c/5414|�������/��
x-morph=”OSHM:HC/Vqa” x-cantillationLevel=”0.0” ”strong=”8562|����/�����������
x-morph=”OSHM:HNcmpc/Sp3fp” x-cantillationLevel=”0”� 4 ”strong=”c/d/5291|���������/���/��
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.0” strong=”c/2896|�������/��
a” x-morph=”OSHM:HC/Aafsc” ”strong=”4758|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2” ”strong=”c/b/4194|�����/��/�� x-morph=”OSHM:HC/R/Ncmsc”
”strong=”1|���/������ x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.1.0”
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x-morph=”OSHM:HC/R/VNc” x-cantillationLevel=”1.0.0.0” ”strong=”5291|���������
x-morph=”OSHM:HNcfpa” strong=”7227|�������� a” x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”7800”
x-morph=”OSHM:HNp” ”strong=”d/1002|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”3027”
x-morph=”OSHM:HNcbsc” ”strong=”1896|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3947|����������/�� x-morph=”OSHM:HC/VNw3fs”
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b” x-morph=”OSHM:HNcmsc” ”strong=”d/802|���������/�� x-morph=”OSHM:HTd/Ncfpa”
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x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”7965”
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x-cantillationLevel=”1.1.0” ”strong=”8147|�������� x-morph=”OSHM:HAcmda”
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b” x-morph=”OSHM:HNcmsc” ”strong=”4438|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms”
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x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1.1” strong=”5921|���
a” x-morph=”OSHM:HR”�������|strong=”3027” x-morph=”OSHM:HNcbdc”
x-cantillationLevel=”0.1.0” strong=”6213|������� a” x-morph=”OSHM:HVqrmpc”
”strong=”d/4399|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”l/935|�������/�� x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”1595” x-
morph=”OSHM:HNcmpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 10 ”strong=”c/5493|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/�����������|strong=”2885”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5414|��/���������/��� x-morph=”OSHM:HC/Vqw3ms/Sp3fs”
x-cantillationLevel=”0.0.1” ”strong=”l/2001|������/�� x-morph=”OSHM:HR/Np”
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strong=”1121|����� a” x-morph=”OSHM:HNcmsc”������������|strong=”4099”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”d/91|��������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.0” strong=”6887|������
d” x-morph=”OSHM:HVqrmsc” ”strong=”d/3064|�����������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0”� 11 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”l/2001|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”d/3701|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5414|������� x-morph=”OSHM:HVqsmsa” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” strong=”c/d/5971|����/��/��
a” x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.1” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” strong=”k/2896|������/��� a” x-morph=”OSHM:HRd/Aamsa”
strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0”� 12 ”strong=”c/7121|������������/�� x-morph=”OSHM:HC/VNw3mp”
strong=”5608|�������� b” x-morph=”OSHM:HNcmpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.3.1.0” ”strong=”b/2320|�������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7223|���������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”1.3.1” ”strong=”b/7969|�����������/��� x-morph=”OSHM:HR/Acmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa” ”strong=”3117|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.3.0” ”strong=”b|���/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.3” ”strong=”c/3789|����������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”k/3605|���/���� x-morph=”OSHM:HR/Ncmsa”�������|strong=”834
a” x-morph=”OSHM:HTr”��������|strong=”6680” x-morph=”OSHM:HVpp3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.3”
”strong=”413|���� x-morph=”OSHM:HR” ”strong=”323|�������������������
x-morph=”OSHM:HNcmpc”�������/����|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.1.2” ”strong=”c/413|���/��� x-morph=”OSHM:HC/R”��������/���|strong=”d/6346”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.2.1.0” � strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”4082” x-morph=”OSHM:HNcfsa”
”strong=”c/4082|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.2.1”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”��������|strong=”8269”
x-morph=”OSHM:HNcmpc” strong=”5971|���� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” strong=”c/5971|����/�� a” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”4082|��������� x-morph=”OSHM:HNcfsa”
”strong=”c/4082|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”k/3791|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-
cantillationLevel=”1.1” strong=”c/5971|����/�� a” x-morph=”OSHM:HC/Ncmsa”
strong=”c/5971|����/�� a” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”k/3956|��/��������/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”b/8034|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”325|��������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”3789|���������
x-morph=”OSHM:HVNsmsa” x-cantillationLevel=”0.1” ”strong=”c/2856|���������/��
x-morph=”OSHM:HC/VNsmsa” x-cantillationLevel=”0.0” ”strong=”b/2885|���������/���
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x-morph=”OSHM:HR/Ncfsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 13 ”strong=”c/7971|�����������/�� x-morph=”OSHM:HC/VNa”
strong=”5612|��������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.0.0”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”d/7323|�������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.2.0” ”strong=”413|���
x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�����������|strong=”4082”
x-morph=”OSHM:HNcfpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”l/8045|����������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.1.0.1” ”strong=”l/2026|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”c/l/6|�������/��/�� x-morph=”OSHM:HC/R/Vpc” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”����������/����|strong=”d/3064”
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1.0.0” ”strong=”m/5288|�������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”�������|strong=”2205”
x-morph=”OSHM:HAamsa” ”strong=”2945|���� x-morph=”OSHM:HNcmsa”
”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1.1.0”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1” ”strong=”b/7969|�����������/���
x-morph=”OSHM:HR/Acmsa” ”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0.0” ”strong=”l/2320|�������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”8147|������� x-morph=”OSHM:HAcmda”��������|strong=”6240”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”1931|����
x-morph=”OSHM:HPp3ms”��������|strong=”2320” x-morph=”OSHM:HNcmsc”
”strong=”143|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/7998|�/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”l/962|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 14 strong=”6572|������������
b” x-morph=”OSHM:HNcmsc” ”strong=”d/3791|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1” ”strong=”l/5414|����������/�� x-morph=”OSHM:HR/VNc”
”strong=”1881|����� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”����������|strong=”4082”
x-morph=”OSHM:HNcfsa” ”strong=”c/4082|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”1540|�������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”1.0” ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”��������/����|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”l/1961|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”6264|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”l/3117|������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
15 ”strong=”d/7323|�������/��� x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.1.0.0”
”strong=”3318|�������� x-morph=”OSHM:HVqp3cp” ”strong=”1765|����������
x-morph=”OSHM:HVqsmpa” x-cantillationLevel=”1.1.0” ”strong=”b/1697|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/d/1881|�����/��/�� x-morph=”OSHM:HC/Td/Ncfsa”
”strong=”5414|��������� x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”1.0”
”strong=”b/7800|���������/��� x-morph=”OSHM:HR/Np” ”strong=”d/1002|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/d/4428|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” ”strong=”c/2001|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1.0” ”strong=”3427|��������� x-morph=”OSHM:HVqp3cp”
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”strong=”l/8354|���������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1”
strong=”c/d/5892|�����/��/�� b” x-morph=”OSHM:HC/Td/Ncfsa” ”strong=”7800|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”943|���������
x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”0”� �4 ”strong=”c/4782|�����������/�� x-morph=”OSHM:HC/Np” x-

cantillationLevel=”1.2.1” ”strong=”3045|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”

x-morph=”OSHM:HNcmsa”��������|strong=”834 a” x-morph=”OSHM:HTr”
strong=”6213|��������� a” x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.2”
”strong=”c/7167|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”4782|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/3847|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8242|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”c/665|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/2199|���������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0”
”strong=”2201|�������� x-morph=”OSHM:HNcfsa” strong=”1419|��������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.0” ”strong=”c/4751|������/��
x-morph=”OSHM:HC/Aafsa” x-cantillationLevel=”0”� 2 ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”8179|������� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0.0” ”strong=”413|��� x-
morph=”OSHM:HR”��������|strong=”8179” x-morph=”OSHM:HNcmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”b/3830|��������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”8242|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 3 ”strong=”c/b/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”����������|strong=”4082” x-morph=”OSHM:HNcfsa”
”strong=”c/4082|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.2.2”
”strong=”4725|������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/1881|���/���/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”1.2.0”
”strong=”5060|��������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”1.2”
”strong=”60|������ x-morph=”OSHM:HNcmsa” strong=”1419|��������
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.0” ”strong=”l/3064|�����������/��
x-morph=”OSHM:HRd/Ngmpa” x-cantillationLevel=”1.1” ”strong=”c/6685|�����/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/1065|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/4553|���������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1” ”strong=”8242|����� x-morph=”OSHM:HNcmsa”
”strong=”c/665|������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.1”
”strong=”3331|������� x-morph=”OSHM:HVHi3ms” x-cantillationLevel=”0.0”
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strong=”l/7227|��������/��� a” x-morph=”OSHM:HRd/Aampa” x-cantillationLevel=”0”�
4 ”strong=”c/935|�����������/��� x-morph=”OSHM:HC/Vqw3fp” x-
cantillationLevel=”1.1.0.0” 5 Marks a place where we agree with BHQ against
BHS in reading L. 6 7 ”strong=”5291|��������� x-morph=”OSHM:HNcfpc”
”strong=”635|��������� x-morph=”OSHM:HNp” ”strong=”c/5631|���/���������/��
x-morph=”OSHM:HC/Ncmpc/Sp3fs” x-cantillationLevel=”1.1.0” ”strong=”c/5046|�����������/��
x-morph=”OSHM:HC/Vhw3mp” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1” strong=”c/2342|�������������/�� a” x-morph=”OSHM:HC/Vfw3fs”
”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3fs” strong=”899|���������� b” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0.1.0” ”strong=”l/3847|�����������/�� x-morph=”OSHM:HR/Vhc”
”strong=”853|���� x-morph=”OSHM:HTo”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.1” ”strong=”c/l/5493|�������/��/��
x-morph=”OSHM:HC/R/Vhc” ”strong=”8242|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0.0” strong=”m/5921|�/������/�� a” x-morph=”OSHM:HR/R/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”6901|������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0”�
5 ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|���������
x-morph=”OSHM:HNp” ”strong=”l/2047|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0.0” ”strong=”m/5631|����������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5975|���������
x-morph=”OSHM:HVhp3ms” ”strong=”l/6440|��/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”c/6680|���/���������/�� x-morph=”OSHM:HC/Vpw3fs/Sp3ms”
x-cantillationLevel=”1.0” strong=”5921|���� a” x-morph=”OSHM:HR”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”l/3045|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”4100|��� x-morph=”OSHM:HTi”������|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”����|strong=”4100” x-morph=”OSHM:HTi”������|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0”� 6 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”2047|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|���� x-morph=”OSHM:HR”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”7339”
x-morph=”OSHM:HNcfsc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”8179|������� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 7 ”strong=”c/5046|�������/��
x-morph=”OSHM:HC/Vhw3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
”strong=”4782|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.0” ”strong=”3605|����
5Q
6n Marks an anomalous form.
7q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L

against BHS.
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x-morph=”OSHM:HNcmsa”��������|strong=”834 a” x-morph=”OSHM:HTr”
strong=”7136|���/����� a” x-morph=”OSHM:HVqp3ms/Sp3ms” x-cantillationLevel=”1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0.2.0”
� ”strong=”6575|���������� x-morph=”OSHM:HNcfsc” ”strong=”d/3701|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.1”
”strong=”l/8254|�������/��� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”1595”
x-morph=”OSHM:HNcmpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”b/3064|�������/� x-morph=”OSHM:HRd/Ngmpa”
x-wType=”x-ketiv” 8 9 Yathir readings in L which we have designated as Qeres
when both Dothan and BHS list a Qere. ”strong=”l/6|�/��������/�� x-
morph=”OSHM:HR/Vpc/Sp3mp” x-cantillationLevel=”0”� 8 ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������������|strong=”6572 b” x-morph=”OSHM:HNcmsc”
”strong=”3791|������� x-morph=”OSHM:HNcmsc”����/����|strong=”d/1881”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”5414” x-morph=”OSHM:HVNp3ms”
”strong=”b/7800|���������/��� x-morph=”OSHM:HR/Np” ”strong=”l/8045|��/����������/��
x-morph=”OSHM:HR/Vhc/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”l/7200|���������/�� x-morph=”OSHM:HR/Vhc”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”635” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/l/5046|��������/��/��
x-morph=”OSHM:HC/R/Vhc” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/l/6680|��������/��/�� x-morph=”OSHM:HC/R/Vpc”
strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0.1”
”strong=”l/935|�����/�� x-morph=”OSHM:HR/Vqc” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
strong=”l/2603|�����������/�� a” x-morph=”OSHM:HR/Vtc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”c/l/1245|��������/��/��
x-morph=”OSHM:HC/R/Vpc” ”strong=”m/l/6440|�/������/���/�� x-morph=”OSHM:HR/R/Ncbpc/Sp3ms”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”� 9 ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” ”strong=”2047|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”l/635|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”4782|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 10 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”l/2047|�������/�� x-morph=”OSHM:HR/Np”

8+ ”strong=”b/3064|�����������/����������/� x-morph=”OSHM:HRd/Ngmpa” x-
cantillationLevel=”0.0”
9y
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x-cantillationLevel=”0.1” ”strong=”c/6680|���/���������/�� x-morph=”OSHM:HC/Vpw3fs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”413|���� x-morph=”OSHM:HR”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���������|strong=”5650” x-morph=”OSHM:HNcmpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2.1”
strong=”c/5971|���/�� a” x-morph=”OSHM:HC/Ncmsc”�����������|strong=”4082”
x-morph=”OSHM:HNcfpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.2.0” ”strong=”3045|����������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.1.2” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”376” x-
morph=”OSHM:HNcmsa” ”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”935|������� x-morph=”OSHM:HVqi3ms”����|strong=”413” x-
morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/2691 a”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”d/6442|�����������/�� x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1.1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”7121”
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1.1.1” ”strong=”259|������
x-morph=”OSHM:HAcfsa” ”strong=”1881|���/���� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”l/4191|�������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.1” ”strong=”l/905|���/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0.0.0” strong=”m/834|�������/�� c” x-morph=”OSHM:HR/Tr”
”strong=”3447|��������� x-morph=”OSHM:HVhi3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”8275”
x-morph=”OSHM:HNcmsc” ”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/2421|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1” ”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”0.1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7121|�����������
x-morph=”OSHM:HVNp1cs” x-cantillationLevel=”0.1.0” 10 Marks a place
where we agree with BHQ against BHS in reading L. 11 12 ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”2088|����
x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0” ”strong=”7970|������������
x-morph=”OSHM:HAcbpa” ”strong=”3117|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 12 ”strong=”c/5046|�����������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”l/4782|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0” ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 13 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4782|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”

10Q
11n Marks an anomalous form.
12v We read one or more vowels in L differently from BHS.
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”strong=”l/7725|��������/�� x-morph=”OSHM:HR/Vhc” ”strong=”413|���
x-morph=”OSHM:HR”����������|strong=”635” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”1819”
x-morph=”OSHM:HVpj2fs” ”strong=”b/5315|��/��������/�� x-morph=”OSHM:HR/Ncbsc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”l/4422|���������/�� x-morph=”OSHM:HR/VNc”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”m/3605|����/��
x-morph=”OSHM:HR/Ncmsc”�����������/���|strong=”d/3064” x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0”� 14 strong=”3588|����� b” x-morph=”OSHM:HC”
strong=”518|��� b” x-morph=”OSHM:HC”����������|strong=”2790 b”
x-morph=”OSHM:HVha” strong=”2790|������������� b” x-morph=”OSHM:HVhi2fs”
x-cantillationLevel=”1.2.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.2”
”strong=”7305|������ x-morph=”OSHM:HNcmsa” ”strong=”c/2020|���������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.0.0” ”strong=”5975|���������
x-morph=”OSHM:HVqi3ms” ”strong=”l/3064|�����������/�� x-morph=”OSHM:HRd/Ngmpa”
x-cantillationLevel=”1.1.0” ”strong=”m/4725|��������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”312|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1”
strong=”c/859|������/�� c” x-morph=”OSHM:HC/Pp2fs” strong=”c/1004|����/��
b” x-morph=”OSHM:HC/Ncmsc”��/�������|strong=”1” x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”1.0” ”strong=”6|���������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”1” ”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
”strong=”3045|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.2”
strong=”518|��� a” x-morph=”OSHM:HC”����/���|strong=”l/6256” x-
morph=”OSHM:HR/Ncbsa” ”strong=”k/2063|�����/��� x-morph=”OSHM:HR/Pdxfs”
x-cantillationLevel=”0.1” ”strong=”5060|����������� x-morph=”OSHM:HVhp2fs”
x-cantillationLevel=”0.0” ”strong=”l/4438|����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 15 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”635|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/7725|��������/�� x-morph=”OSHM:HR/Vhc” ”strong=”413|����
x-morph=”OSHM:HR”������������|strong=”4782” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 16 ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
”strong=”3664|�������� x-morph=”OSHM:HVqv2ms” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�����������/���|strong=”d/3064”
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1.1.0” ”strong=”d/4672|������������/���
x-morph=”OSHM:HTd/VNrmpa” ”strong=”b/7800|���������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.1” ”strong=”c/6684|�������/�� x-morph=”OSHM:HC/Vqv2mp”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0.1”
”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�����������|strong=”398”
x-morph=”OSHM:HVqj2mp” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”������������|strong=”8354”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.1.0.0” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.0” ”strong=”3915|�������� x-morph=”OSHM:HNcmsa”
”strong=”c/3117|�����/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1”
”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
”strong=”c/5291|�/���������/�� x-morph=”OSHM:HC/Ncfpc/Sp1cs” x-
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cantillationLevel=”1.0” ”strong=”6684|������� x-morph=”OSHM:HVqi1cs”
strong=”3651|����� c” x-morph=”OSHM:HTm” x-cantillationLevel=”1” strong=”c/b/3651|����/��/��
c” x-morph=”OSHM:HC/R/D” x-cantillationLevel=”0.1.0.0” ”strong=”935|�������
x-morph=”OSHM:HVqi1cs” ”strong=”413|��� x-morph=”OSHM:HR”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3808|���� x-morph=”OSHM:HTn”�����/���|strong=”k/1881”
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1” strong=”c/k/834|�������/��/��
d” x-morph=”OSHM:HC/R/Tr” ”strong=”6|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”6|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0”� 17 strong=”c/5674|���������/��� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”4782|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1” ”strong=”k/3605|����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”6680”
x-morph=”OSHM:HVpp3fs” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� �5 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.1.0”

� ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7992|������������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.2.1” ”strong=”c/3847|�����������/��

x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”4438|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.1.0.0” strong=”b/2691|������/��� a” x-morph=”OSHM:HR/Ncbsc”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”d/6442|�����������/��
x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.1” ”strong=”5227|������
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” strong=”1004|������ b”
x-morph=”OSHM:HNcmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/d/4428|�������/��/��� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”0.1.0.1” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”3678”
x-morph=”OSHM:HNcmsc” ”strong=”4438|���/�������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0.1.0” strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/4438|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”5227|������ x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”6607|�������
x-morph=”OSHM:HNcmsc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”k/7200|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”635” x-morph=”OSHM:HNp”
”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1”
”strong=”5975|��������� x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.1.0”
strong=”b/2691|������/���� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1”
”strong=”5375|��������� x-morph=”OSHM:HVqp3fs” ”strong=”2580|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” strong=”b/5869|�/�������/���
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a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/3447|���������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.2.1.0” ”strong=”l/635|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.2.1” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”8275”
x-morph=”OSHM:HNcmsc” ”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”0.2”
”strong=”c/7126|���������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/5060|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0” strong=”b/7218|������/���
a” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/8275|�����������/�� x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� � 3 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”4100|��� x-morph=”OSHM:HTi”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.0” ”strong=”635|���������
x-morph=”OSHM:HNp” ”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”��/�������������|strong=”1246”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”2677” x-morph=”OSHM:HNcmsc”
”strong=”d/4438|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”c/5414|����������/�� x-morph=”OSHM:HC/VNj3ms” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 4 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”����|strong=”5921
a” x-morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”2895|����� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”935|������� x-morph=”OSHM:HVqi3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/2001|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”�����������/���|strong=”d/4960” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 5 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
strong=”4116|�������� a” x-morph=”OSHM:HVpv2mp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”2001” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1697”
x-morph=”OSHM:HNcmsc” ”strong=”635|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”c/2001|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/4960”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”834|������
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a” x-morph=”OSHM:HTr”����������|strong=”6213 a” x-morph=”OSHM:HVqp3fs”
”strong=”635|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”l/635|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” ”strong=”b/4960|����������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3196|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”4100|��� x-morph=”OSHM:HTi”��/������������|strong=”7596”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”1.0” ”strong=”c/5414|����������/��
x-morph=”OSHM:HC/VNj3ms” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” ”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”��/�������������|strong=”1246”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”2677” x-morph=”OSHM:HNcmsc”
”strong=”d/4438|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/VNj3fs” x-cantillationLevel=”0”�
7 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3fs” ”strong=”635|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1” ”strong=”7596|�/����������
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”c/1246|�/�����������/��
x-morph=”OSHM:HC/Ncfsc/Sp1cs” x-cantillationLevel=”0”� 8 strong=”518|���
a” x-morph=”OSHM:HC”����������|strong=”4672” x-morph=”OSHM:HVqp1cs”
”strong=”2580|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.1.0”
strong=”b/5869|�������/��� a” x-morph=”OSHM:HR/Ncbdc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”����|strong=”5921 a” x-morph=”OSHM:HR”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”2895|�����
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.2” ”strong=”l/5414|����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�/������������|strong=”7596” x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”c/l/6213|��������/��/�� a” x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������������|strong=”1246”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1” ”strong=”935|�������
x-morph=”OSHM:HVqi3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/2001|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.1”
”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/4960”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6213|���������� a” x-morph=”OSHM:HVqi1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1”
”strong=”c/4279|������/�� x-morph=”OSHM:HC/Ncmsa” strong=”6213|����������
a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0” ”strong=”k/1697|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 9 ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1” ”strong=”8056|��������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” strong=”c/2896|�����/��
a” x-morph=”OSHM:HC/Aamsc” strong=”3820|���� a” x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”1” ”strong=”c/k/7200|�������/��/�� x-morph=”OSHM:HC/R/Vqc”
”strong=”2001|������ x-morph=”OSHM:HNp” ”strong=”853|���� x-morph=”OSHM:HTo”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0” ”strong=”b/8179|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�����|strong=”6965
b” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�����|strong=”2111” x-morph=”OSHM:HVqp3ms”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1”
”strong=”c/4390|����������/�� x-morph=”OSHM:HC/VNw3ms” ”strong=”2001|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” strong=”5921|���� a”
x-morph=”OSHM:HR”������������|strong=”4782” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”2534|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 10 ”strong=”c/662|������������/�� x-morph=”OSHM:HC/Vtw3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/935|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1004 b” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”157”
x-morph=”OSHM:HVqrmpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”2238” x-morph=”OSHM:HNp”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”�
11 strong=”c/5608|���������/�� a” x-morph=”OSHM:HC/Vpw3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” ”strong=”2001|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”3519”
x-morph=”OSHM:HNcbsc” ”strong=”6239|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/7230|����/�� x-morph=”OSHM:HC/Ncbsc”
strong=”1121|�/������� a” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”834 a” x-morph=”OSHM:HTr”
”strong=”1431|��/�������� x-morph=”OSHM:HVpp3ms/Sp3ms” ”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5375|��/�������� x-morph=”OSHM:HVpp3ms/Sp3ms” x-cantillationLevel=”0.1”
strong=”5921|��� a” x-morph=”OSHM:HR”���������/���|strong=”d/8269”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”c/5650|��������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 12 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”2001|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”637|���� x-morph=”OSHM:HTa” ”strong=”3808|���
x-morph=”OSHM:HTn”����������|strong=”935” x-morph=”OSHM:HVhp3fs”
”strong=”635|��������� x-morph=”OSHM:HNp” ”strong=”d/4436|����������/��
x-morph=”OSHM:HTd/Ncfsa” strong=”5973|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”�����������/���|strong=”d/4960” x-morph=”OSHM:HTd/Ncmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”6213
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a” x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0” strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”�/�������|strong=”853”
x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”������/���|strong=”l/4279” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”7121|������� x-morph=”OSHM:HVqsmsa”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” strong=”5973|��� a”
x-morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 13 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�����|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.1” ”strong=”369|����/������
x-morph=”OSHM:HTn/Sp3ms” strong=”7737|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�����|strong=”6256”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”7200|������ x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”4782”
x-morph=”OSHM:HNp” ”strong=”d/3064|����������/�� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.1” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.0” ”strong=”b/8179|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
14 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” ”strong=”2238|������� x-morph=”OSHM:HNp”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.2.1.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�/����������|strong=”157”
x-morph=”OSHM:HVqrmpc/Sp3ms” x-cantillationLevel=”1.2.1” strong=”6213|���������
a” x-morph=”OSHM:HVqj3mp”�����|strong=”6086” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” ”strong=”1364|��������� x-morph=”OSHM:HAamsa”
”strong=”2572|����������� x-morph=”OSHM:HAcbpa” strong=”520|�������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2” ”strong=”c/b/1242|�������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.1.1.0” � ”strong=”559|������
x-morph=”OSHM:HVqv2ms” ”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1.1” ”strong=”c/8518|��������/�� x-morph=”OSHM:HC/Vqj3mp”
”strong=”853|���� x-morph=”OSHM:HTo”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/935|����/��
x-morph=”OSHM:HC/Vqv2ms”����|strong=”5973 a” x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”413|��� x-morph=”OSHM:HR” 13
Marks a place where we agree with BHQ against BHS in reading L. 14 15
”strong=”d/4960|�����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”8056|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/3190|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/1697|�������/��

13Q
14n Marks an anomalous form.
15p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”2001|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/6086|����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
�6 ”strong=”b/3915|���������/��� x-morph=”OSHM:HRd/Ncmsa”

”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1”
”strong=”5074|�������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0”

”strong=”8142|������� x-morph=”OSHM:HNcfsc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.1” ”strong=”l/935|�������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”5612 a” x-morph=”OSHM:HNcmsc”
”strong=”d/2146|������������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0”
”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”d/3117|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”7121|����������� x-morph=”OSHM:HVNsmpa”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
2 ”strong=”c/4672|����������/�� x-morph=”OSHM:HC/VNw3ms” ”strong=”3789|�������
x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”1.1.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5046|�������� x-morph=”OSHM:HVhp3ms”
”strong=”4782|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”904”
x-morph=”OSHM:HNp” ”strong=”c/8657|�������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.1” ”strong=”8147|������� x-morph=”OSHM:HAcmdc”
x-cantillationLevel=”1.1.0” ”strong=”5631|��������� x-morph=”OSHM:HNcmpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”m/8104|����������/�� x-morph=”OSHM:HR/Vqrmpc” x-cantillationLevel=”1.0”
strong=”d/5592|�����/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1245|����������
x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.1.0” ”strong=”l/7971|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”3027|���� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1” ”strong=”b/4428|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”325|��������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”4100|���� x-morph=”OSHM:HTi”�����������|strong=”6213
a” x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.0.0.0” ”strong=”3366|������
x-morph=”OSHM:HNcmsa” ”strong=”c/1420|����������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.0.0” ”strong=”l/4782|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0.0” ”strong=”5288|��������
x-morph=”OSHM:HNcmpc” ”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”8334|�/������������ x-morph=”OSHM:HVprmpc/Sp3ms”
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x-cantillationLevel=”0.1” ”strong=”3808|��� x-morph=”OSHM:HTn”����������|strong=”6213
a” x-morph=”OSHM:HVNp3ms” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”1697|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 4 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”4310|���� x-morph=”OSHM:HTi” strong=”b/2691|������/��
a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/2001|������/��
x-morph=”OSHM:HC/Np” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.3.1” strong=”l/2691|������/�� a” x-morph=”OSHM:HR/Ncbsc”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.3.0” ”strong=”d/2435|�����������/��
x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”0.3” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.2” ”strong=”l/8518|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1.0” ”strong=”853|���� x-morph=”OSHM:HTo”������������|strong=”4782”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”5921|��� a” x-
morph=”OSHM:HR”����/���|strong=”d/6086” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”3559
a” x-morph=”OSHM:HVhp3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 5 ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1.0.0” ”strong=”5288|�������� x-morph=”OSHM:HNcmpc”
”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”2001|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”5975|������
x-morph=”OSHM:HVqrmsa” strong=”b/2691|������/��� a” x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”935|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
6 ”strong=”c/935|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.4.0”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.4”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.3.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.3” ”strong=”4100|���
x-morph=”OSHM:HTi”��������/���|strong=”l/6213 a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” ”strong=”b/376|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”2654|������ a” x-morph=”OSHM:HVqp3ms” ”strong=”b/3366|��/�����/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”2001|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” strong=”b/3820|��/�����/��� a” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”l/4310|����/�� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”0.0.0.0” strong=”2654|��������� a” x-morph=”OSHM:HVqi3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”3366|������
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3148|�������
x-morph=”OSHM:HNcmsa” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 7 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” strong=”2654|������ a” x-morph=”OSHM:HVqp3ms”
”strong=”b/3366|��/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 8 ”strong=”935|���������� x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”1.1.0” ”strong=”3830|�������� x-morph=”OSHM:HNcmsc”
”strong=”4438|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3847|�������
x-morph=”OSHM:HVqp3ms”��/����|strong=”b” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”c/5483|�����/�� b” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7392|������ x-morph=”OSHM:HVqp3ms” strong=”5921|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”5414|������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0.0” ”strong=”3804|������� x-morph=”OSHM:HNcmsc”
”strong=”4438|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
strong=”b/7218|��/������/��� a” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 9 ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqa”
”strong=”d/3830|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0”
strong=”c/d/5483|������/��/�� b” x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1.2.1” strong=”5921|��� a” x-morph=”OSHM:HR”����|strong=”3027”
x-morph=”OSHM:HNcbsc”�������|strong=”376” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0.0” ”strong=”m/8269|��������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/4428|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”d/6579|�������������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”c/3847|��������������/�� x-morph=”OSHM:HC/Vhq3cp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”2654|������ a” x-morph=”OSHM:HVqp3ms”
”strong=”b/3366|��/�����/���� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/7392|���/�����������/�� x-morph=”OSHM:HC/Vhq3cp/Sp3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/5483
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.3.0” ”strong=”b/7339|�������/���
x-morph=”OSHM:HR/Ncfsc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.3” ”strong=”c/7121|��������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.2”
”strong=”3602|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
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strong=”6213|��������� a” x-morph=”OSHM:HVNi3ms” ”strong=”l/376|������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” strong=”2654|������ a” x-morph=”OSHM:HVqp3ms”
”strong=”b/3366|��/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0”
”strong=”l/2001|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2.1”
strong=”4116|������ a” x-morph=”OSHM:HVpv2ms” x-cantillationLevel=”1.2.0.0”
”strong=”3947|���� x-morph=”OSHM:HVqv2ms” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/3830”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������/���|strong=”d/5483
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1696|������������ x-morph=”OSHM:HVpp2ms”
x-cantillationLevel=”1.2” strong=”c/6213|������/��� a” x-morph=”OSHM:HC/Vqv2ms”�����|strong=”3651
c” x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”l/4782|�����������/��
x-morph=”OSHM:HR/Np” ”strong=”d/3064|����������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1” ”strong=”d/3427|���������/�� x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”1.0” ”strong=”b/8179|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”5307” x-
morph=”OSHM:HVhj2ms” ”strong=”1697|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1696|������������ x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”0”�
11 ”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”2001|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/3830”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������/���|strong=”d/5483
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/3847|�����������/��
x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”1.0” ”strong=”853|����
x-morph=”OSHM:HTo”������������|strong=”4782” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/7392|����/������������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3ms”
x-cantillationLevel=”0.3.0” ”strong=”b/7339|�������/��� x-morph=”OSHM:HR/Ncfsc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.3”
”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”3602|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” strong=”6213|���������
a” x-morph=”OSHM:HVNi3ms” ”strong=”l/376|������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
strong=”2654|������ a” x-morph=”OSHM:HVqp3ms” ”strong=”b/3366|��/�����/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4782|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”8179”
x-morph=”OSHM:HNcmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/2001|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1.0” ”strong=”1765|�������� x-morph=”OSHM:HVNp3ms”
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”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1004 b” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”57|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”c/2645|�������/��
x-morph=”OSHM:HC/Vqsmsc” strong=”7218|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 13 strong=”c/5608|���������/�� a” x-morph=”OSHM:HC/Vpw3ms”
”strong=”2001|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”l/2238|�������/�� x-morph=”OSHM:HR/Np” ”strong=”802|���/�������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”c/l/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”�/����������|strong=”157” x-morph=”OSHM:HVqrmpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” strong=”7136|���/����� a” x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
16 We read one or more accents in L differently from BHQ. ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” ”strong=”2450|�/�������� x-morph=”OSHM:HAampc/Sp3ms”
x-cantillationLevel=”0.1.1.0” ”strong=”c/2238|�������/�� x-morph=”OSHM:HC/Np”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.1”
strong=”518|���� a” x-morph=”OSHM:HC” ”strong=”m/2233|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/3064|�����������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0.1.0.1” ”strong=”4782|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”2490|����������� c” x-morph=”OSHM:HVhp2ms” ”strong=”l/5307|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/6440|��/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”3201”
x-morph=”OSHM:HVqi2ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”5307”
x-morph=”OSHM:HVqa” ”strong=”5307|��������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0.0” ”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 14 ”strong=”5750|��/����� x-morph=”OSHM:HD/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”1696|������������ x-morph=”OSHM:HVprmpa”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”c/5631|���������/�� x-morph=”OSHM:HC/Ncmpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”5060|����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1” ”strong=”c/926|������������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.1.0” ”strong=”l/935|�������/��
x-morph=”OSHM:HR/Vhc” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”2001”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/4960”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”6213 a” x-morph=”OSHM:HVqp3fs”
”strong=”635|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

7 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”c/2001|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1” ”strong=”l/8354|���������/��

16C
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x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0” strong=”5973|��� a”
x-morph=”OSHM:HR”����������|strong=”635” x-morph=”OSHM:HNp”
”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”l/635|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0.0” ”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/8145|��������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.1.0” ”strong=”b/4960|����������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/3196|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”4100|��� x-morph=”OSHM:HTi”��/������������|strong=”7596”
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”1.0.0” ”strong=”635|���������
x-morph=”OSHM:HNp” ”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”c/5414|����������/�� x-morph=”OSHM:HC/VNi3fs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”��/�������������|strong=”1246” x-morph=”OSHM:HNcfsc/Sp2fs”
x-cantillationLevel=”0.0.0” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”2677”
x-morph=”OSHM:HNcmsc” ”strong=”d/4438|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0” strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/VNj3fs”
x-cantillationLevel=”0”� 3 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3fs”
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a” x-morph=”OSHM:HTd/VNrmpa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”5674|��������� a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.2”
”strong=”l/1961|�������/�� x-morph=”OSHM:HR/Vqc” strong=”6213|��������
a” x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1.1” ”strong=”853|����

24+ ”strong=”c/6901|���������/�����/� x-morph=”OSHM:HC/Vpp3cp”
25a
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x-morph=”OSHM:HTo” ”strong=”8147|������� x-morph=”OSHM:HAcmdc”
”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1.1”
”strong=”k/3791|�/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-
cantillationLevel=”1.0” ”strong=”c/k/2165|�/��������/��/�� x-morph=”OSHM:HC/R/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”c/8141|�������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”� 28 ”strong=”c/d/3117|��������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” ”strong=”d/428|������/��� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1.1.1” ”strong=”2142|������������ x-morph=”OSHM:HVNsmpa”
strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/VNsmpa” x-cantillationLevel=”1.1.1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�������|strong=”1755”
x-morph=”OSHM:HNcmsa” ”strong=”c/1755|�����/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.1.1” ”strong=”4940|������������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1.0” ”strong=”c/4940|������������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”4082|��������� x-morph=”OSHM:HNcfsa”
”strong=”c/4082|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.0”
strong=”c/5892|�����/�� b” x-morph=”OSHM:HC/Ncfsa” strong=”c/5892|�����/��
b” x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1” ”strong=”c/3117|�����/��
x-morph=”OSHM:HC/Ncmpc” x-cantillationLevel=”0.1.1.0” ”strong=”d/6332|���������/��
x-morph=”OSHM:HTd/Np” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”0.1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” strong=”5674|�����������
a” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.0” ”strong=”m/8432|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/3064|�����������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0.1” ”strong=”c/2143|�/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”5486”
x-morph=”OSHM:HVqi3ms” ”strong=”m/2233|�/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� � 29 ”strong=”c/3789|���������/��� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.0.0.0” ”strong=”635|��������� x-morph=”OSHM:HNp”
”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa” ”strong=”1323|���
x-morph=”OSHM:HNcfsc”������������|strong=”32” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”c/4782|�����������/�� x-morph=”OSHM:HC/Np”
”strong=”d/3064|����������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0”
”strong=”854|��� x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”8633”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”l/6965|�������/��
b” x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.0.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”107|��������� x-morph=”OSHM:HNcfsc”
”strong=”d/6332|���������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.0.0”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”0.0”
”strong=”d/8145|���������/�� x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”0”�
30 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”5612|���������
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�����������/���|strong=”d/3064”
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”7651” x-morph=”OSHM:HAcfsa”
”strong=”c/6242|����������/�� x-morph=”OSHM:HC/Acbpa” ”strong=”c/3967|������/��
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x-morph=”OSHM:HC/Acbsa” x-cantillationLevel=”1.1.0” ”strong=”4082|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” ”strong=”4438|���������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”1.0” ”strong=”325|���������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/571|������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0”� 31 strong=”l/6965|�������/�� b” x-morph=”OSHM:HR/Vpc”
x-cantillationLevel=”1.1.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”3117”
x-morph=”OSHM:HNcmpc” ”strong=”d/6332|��������/�� x-morph=”OSHM:HTd/Np”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1.1.1.0”
”strong=”b/2165|����/��������/��� x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.1.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
strong=”6965|������� b” x-morph=”OSHM:HVpp3ms” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0.0” ”strong=”4782|�����������
x-morph=”OSHM:HNp” ”strong=”d/3064|����������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1.0” ”strong=”c/635|���������/�� x-morph=”OSHM:HC/Np”
”strong=”d/4436|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
strong=”c/k/834|�������/��/�� d” x-morph=”OSHM:HC/R/Tr” x-cantillationLevel=”1.0.0”
strong=”6965|��������� b” x-morph=”OSHM:HVpp3cp” strong=”5921|���
a” x-morph=”OSHM:HR”�/���������|strong=”5315” x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”1.0” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�/��������|strong=”2233”
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1” ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”d/6685|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”c/2201|�/���������/�� x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”0”� 32 ”strong=”c/3982|��������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”635|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”6965|������� b” x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.1”
”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”d/6332|��������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.0” ”strong=”d/428|�������/��
x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1” ”strong=”c/3789|���������/��
x-morph=”OSHM:HC/VNsmsa” x-cantillationLevel=”0.0” strong=”b/5612|�������/���
a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� �10 strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”

”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”325|����� x-morph=”OSHM:HNp” x-wType=”x-ketiv”

26 � ”strong=”4522|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”c/339|�������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”d/3220|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 2 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”����������|strong=”4639”
x-morph=”OSHM:HNcmsc” ”strong=”8633|���/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”c/1369|��/����������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”c/6575|���������/�� x-morph=”OSHM:HC/Ncfsc”
x-cantillationLevel=”1.1.0” ”strong=”1420|���������� x-morph=”OSHM:HNcfsc”
26+ ”strong=”325|�������������������� x-morph=”OSHM:HNp”
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”strong=”4782|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1431|��/��������
x-morph=”OSHM:HVpp3ms/Sp3ms” x-cantillationLevel=”1.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn”�����|strong=”1992” x-morph=”OSHM:HPp3mp”
”strong=”3789|����������� x-morph=”OSHM:HVqsmpa” x-cantillationLevel=”0.1.1”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”5612 a”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” ”strong=”1697|���������
x-morph=”OSHM:HNcmpc” ”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”l/4428|��������/�� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”0.0” ”strong=”4074|������ x-morph=”OSHM:HNp”
”strong=”c/6539|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
3 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.2.1.0”
� ”strong=”4782|����������� x-morph=”OSHM:HNp” ”strong=”d/3064|����������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.2.1” ”strong=”4932|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0” ”strong=”l/4428|��������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”325|��������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”c/1419|�������/�� a” x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”1.1.0” ”strong=”l/3064|�����������/�� x-morph=”OSHM:HRd/Ngmpa”
x-cantillationLevel=”1.1” ”strong=”c/7521|�������/�� x-morph=”OSHM:HC/Vqsmsa”
x-cantillationLevel=”1.0” ”strong=”l/7230|����/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”251|�/������ x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
”strong=”1875|�������� x-morph=”OSHM:HVqrmsa” strong=”2896|�����
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0” strong=”l/5971|��/�����/��
a” x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/1696|������/��
x-morph=”OSHM:HC/Vqrmsa” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”2233”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�


